SANT NIRANKARI PUBLIC SCHOOL, GOVINDPURI
CLASS VII (2024-25)

SUMMER HOLIDAY HOMEWORK

Dear Parents,

We wish you and your child a very happy summer holidays. It’s time to enjoy
and create a bond with family, friends and relatives. To utilize this time in the
most constructive way we have prepared Holiday Homework for the students
on the principle of ‘learning by doing’ for their holistic development.

Some important instructions:

1. It's high time for all to be fit and active even by staying at home.

2. Daily exercise is must for all.

3. Eat healthy and avoid junk food.

4. Avoid heavy and oily food and increase intake of fresh fruits and water
to keep you well hydrated and energetic.

5. Read newspaper daily to enhance your writing skills and vocabulary.

6. The holiday homework carries marks.
7. All the activities are to be done as instructed.




Topic: Adaptation of Organisms in Different Regions

The ability of living organisms to adjust themselves to their surroundings is called
adaptation. Adaptations are the changes in structure or behaviour of an organism that will
allow the organism to survive in that habitat.

Adaptation of Organisms in Different regions

e Polar regions - The polar region display extreme cold climates as they covered
with snow for most time of the year. Animals that live in extreme climate (hot or
cold) possess special features to protect from such conditions.
e Tropical regions-A tropical rainforest is a warm, wet forest found in tropical regions
around the Equator. These rainforests usually receive maximum amounts of rainfall
(at least 80 in or 200 cm a year), a fairly consistent temperature, and no seasons. It is
hot and humid all year round.
e Deserts-A desert is a landscape or region with little or no rainfall and extreme
temperatures making the conditions unsuitable for plant and animal life

Animals in Polar Region I, |
Animals in Tropical regions Animals in Desert Region

Activity 1 (Subject: Science) : On an A4 size sheet paste pictures of two animals each of the
different habitats and write their adaptation. [One adaptation on one sheet] *Refer the
image to write the adaptation for all the organisms*
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Activity 2 (Subject : Social Studies) : On a world map mark polar regions in blue, green for
tropical regions, brown for deserts.

Activity 3 (Subject: English) : Adaptation is both physical and behavioural. Behavioural Adaptation
occurs in animals due to reasons like unavailability of food, destruction of their habitats by human
actions, climate change etc. If animals are unable to adapt behaviourally they die and extinct. Based
on this theme Draw a poster on ill effects of human actions on animals and write a paragraph on

“ Human action: Driving animals towards extinction”

Activity 4 (Subject: Maths) : Symmetry in Animal Body Parts

Create a poster displaying pictures of animals and labelling the symmetrical features. Write short
explanations of how symmetry in these body parts helps the animals adapt to their environments or
perform specific functions.

Radial Symmetry Bilateral Symmetry

Activity 5 (Subject: Hindi)
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Activity 6 (Subject: Sanskrit)
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Activity 7 (Subject : Computer) : Make a PPT on the above topic [5-6 slides]

Activity 8 (Subject : Art) : Make a Wildlife poster of Tropical Rainforest. Design the cover
page of every subject project file.



SANT NIRANKARI PUBLIC SCHOOL , GOVINDPURI
SAMPLE PAPER : 2024-25

SUBJECT : ENGLISH
CLASS : VII

TIME : 3 hrs MM : 60
General Instructions:

e All Questions are compulsory

e Section A Reading consist of 8 Marks

e Section B Writing consist of 12 Marks

e Section C Grammar Consist of 20 Marks
e Section D Literature Consist of 20Marks

SECTION A: READING

Q1. Read the following passage carefully and answer the questions that follow —

There are houses all over the world. Some houses are large. Some are small. Some are made of
wood. Some are made of rock. Some are made of mud. Some are made of cloth. In cold places,
some houses are made of ice — frozen water! People usually build their houses with something
that is easy to find. For example, there are many trees in the forest. So people who live there
might build a house made of logs. Some houses have one room. Some houses have many
rooms. There is usually a bedroom for sleeping. There is often a kitchen for cooking. There is
usually a bathroom. There is often a living room for sitting and talking. Some houses have
basements. The basement is under the main part of the house. Some houses have attics. The
attic is above the main part of the house. Most houses have a door so people can enter and exit
the house. Most houses have windows so the people can look outside. Windows also let air into
the house from outdoors. Some houses are fancy. They are painted bright colours and are very
decorative. Some houses not fancy — they are plain and simple. Houses look very different in
different parts of the world. But, people who live in a house probably all agree that there is no
place like home!

i.  Why are many forest houses made of logs?

a. There are many logs in the forest b. Trees are easy to find in the forest
c. There is a lot of wood in the forest. d. All of the above
ii.  Why do houses have bedrooms?
a. For sleeping b. For cooking
c. For relaxing d. For building things
iii.  Where is the basement of a house?
a. Beside the house b. Above the house

c. Under the house d. None of the above



iv.  Houses have doors...

a. so people can enter and exit b. so people can sleep

c. so people can cook and eat d. Both A and B are correct.
v.  Houses have windows to...

a. let people go outside b. let people look outside
c. let air into the house from outdoors d. Both B and C are correct.

Vi. What is ice?

a. Trees that are cut down b. Water that is frozen
c. Akind of grass d. Akind of cloth

vii.  Akitchenisa

viii.  Give a suitable title to the paragraph

SECTION B: WRITING

Q2. Attempt any one of the following:
A. Read the following conversation carefully:

Rosy : Hello !'is it 90350225657?

Rehana : Yes, please. Who's it there?

Rosy : I’'m Rosy, a friend of Roma. Where is she?

Rehana : Oh! Sorry. Actually she has forgotten her mobile here. She has gone to the
market. Can | help you, please ?

Rosy : Oh, sure. In fact, | wanted to convey her that today’s music classes \ shall be
suspended because the teacher is not well. Instead it will be held on Sunday. So she
should remember it.

Could you please pass this message to her?

Rehana: Oh! Sure. Thank you.

Rosy : Thank you too.

As Rehana is going to her dance classes she needs to reproduce the message for Roma.
Write the message on her behalf with every detail. (3 M)

OR

B. You are the class leader of your class. The physics teacher asked you to bring all the
students to the physics lab. However, two girls had gone to the infirmary. Write a
message on the blackboard telling them to come to the lab with their physics books
and other necessary equipment. (3 M)



Q3. Attempt any one of the following: (4 M)

A. Mr. R.K. Bhatnagar IAS has agreed to visit your school and address the staff and
students on the topic ‘Value of Discipline’ in your school, Adarsh Public School, Delhi
on 20th November 20 xx —at 5 p.m. As a Head Boy, write a notice inviting the staff
and the students to the talk.

OR

B. You are Sandeep Singh of Class-VII. You want to invite the students on Van Mahotsav
for a tree plantation activity in the school and nearby areas. Draft a notice in not
more than 50 words.

Q4. Attempt any one of the following: (5M)
A. Write a letter to your friend inviting him to your elder sister’s wedding.
OR
B. Write a letter to your uncle thanking him for a birthday gift.
SECTION C: GRAMMAR
Q5. Choose the correct answer from the options given: (1x14=14 M)

i.  You must come to school at right time. Identify the type of sentence —
a) Exclamatory sentence b) Interrogative sentence

c) Affirmative Sentence d) Imperative sentence

ii. The statue that you see here was built 2,000 years ago. Identify the type of clause —

a) Noun Clause b) Pronoun Clause

c¢) Adjective Clause d) Adverb Clause
iii. They were angry with __ for their silly mistake.

a) our self b) themselves

c) itself d) yourself
iv.  Whenlspokewith  last, she sounded a bit distressed.

a) her b) him

c) he d) she

v.  The dog bit the girl. Voice of this sentence is —

a) Active b) Passive


https://www.studyadda.com/question-bank/6th-class/english/pronouns/pronouns/2849

Vi.

Vii.

viii.

Xi.

Xii.

xiii.

c) None of above d) Both of above

Dhruvis ___ than Shiva. They are both cousins. Correct form of adjective is —
a) Oldest b) More old

c) Older d) Old

Sonakshiis _ girl.

a) laziest b) lazy

c) more lazy d) lazier

He goes to the cinema. Choose the correct adverb

a) carefully b) rarely

b) quite d) rather

Life is very hard for the poor. Here hard is —

a) Adjective b) Adverb

c) Pronoun d) Abstract Noun
Complete using past continuous form of verb. We television when he came
in.

a) watched b) were watching

c) have watched d) had watching

Sam (repair) a fridge in his shop when the accident (happen).

a) repairing, happening b) repaired, happened
c) repair, happened d) has repaired, has happened

Identify the type of sentence. — Slow down before you get an accident.

a) Interrogative b) Exclamatory
c) Declarative d) Imperative
Identify the type of sentence. — How many students are in your class?

a) Interrogative b) Exclamatory

c) Declarative d) Imperative



xiv.  ldentify the type of clause. — This is the book that ’m currently reading.

a) Noun Clause b) Pronoun Clause

c) Adjective Clause d) Adverb Clause

Q6. Combine these simple sentences to form compound sentences:

i.  She runs a boutique. She teaches in a college.

ii.  You can spend the night in the hotel. You can come to my house.

(2x1=2M)

Q7. Identify the kind of phrase of highlighted phrase: verb, adjective, adverb or noun phrase

i. | have written to the organizers.
ii.  The book with brown cover is mine.

Q8. Fill in the blanks withs possessive pronouns.

i.  Meet Mr. Abdul. The resort we are staying at is
ii.  “Is this wallet ? | found it under the desk,” said |I.

SECTION D: LITERATURE
Q9. Read the following lines carefully and answer the questions that follow:

A) Between the trills and pauses, in between
The singing and silence of a bird?
i.  Whatis the name of the Poem from which these lines are taken?
ii.  Whatis the name of the Poet?
iii.  What is the meaning of ‘trills’ in these lines?
iv.  What does poet mean by above lines?

OR
B) Ring out, wild bells, to the wild sky,
The flying clouds, the frosty light;
The year is dying in the night;
Ring out, wild bells, and let him die.

i.  Whatis the name of the Poem from which these lines are taken?
ii.  What is the name of the Poet?
iii.  Which literary device is used in term “flying clouds”

iv.  Which literary device is used in the line ‘the year is dying in the night’

(2x1=2 M)

(2X1=2 M)

(1x4=4 M)



Q9. Complete the following sentences: (any 2) (1x2=2 M)

i Abou Ben Adhem was curious to know
ii. A creature of heroic blood refers to
iii.  Miss Betsey had first seen David

Q10. Answer the following questions in 20-30 words (any 2) (2x2=4 M)

i.  Briefly describe David’s first day at Wickfields.
ii. How did the woman managed to get an invitation for a luncheon from the writer?

iii.  How did Rohit find his way back home?
Q11. Answer the following questions in 30-40 words (any 2) (3x2=6 M)

i. Do you think David became happy in the new phase of his life? Why?
ii.  Explain why Miss Betsey refused to part with Rohit?
iii.  Why do you think angel visited Abou Ben Adhem?

Q12. Answer the following in 60-80 words (any 1) (4x1=4 M)

i.  Neerja Bhanot was a brave person in every aspect of life. Do you agree with the
statement? Elaborate.

ii.  The story ‘Dolby to the Rescue’ shows that a companion is more important than any
fancy gadget. Do you agree with this view? Why or why not?
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SANT NIRANKARI PUBLIC SCHOOL, GOVINDPURI
SAMPLE PAPER(2024-25)
CLASS- VI
SUBJECT — MATHEMATICS

Time: 3 hour M.M: 60

GENERAL INSTRUCTIONS:
e All questions are compulsory.

e This paper consists of 13 questions.

e Section A contains MCQs and Objective questions of 1 mark each.
e Section B contains 6 questions of 2 marks each.

e Section C contains 4 questions of 3 marks each.

e Section D contains 2 questions of 5 marks each. (MCQ based)

SECTION A
(1x26 =26)

Q1 Multiple choice questions:
7 33

17—
a) 3 b) -3 c)7 d)-33
ii.  The sum of two rational number is always a
a) Negative number b) Positive number c) Rational number d) Whole number
iii.  Two supplementary angles always form a linear pair.

a) True b)False c)Cannot be determined
iv.  The smallest negative integer is
a) 0 b) -2 c)-15 d) -10
v.  Asquare playground is 60% m long. Find its area.
a) 320 cm? b) 3690% cm? c) 4052% cm?  d) None
vi. Z is a rational number when
a) p=0,9% 0 b) p=0, g=0 ¢)p #0,9=0.  d)p=1,g=0
vii.  Which of the following is not a Pythagorean triplet.
a) 12,16,20 b)14,15,28 c) 5,12,13 d) 16,63,65
viii.  An angle which is supplement of itself
a) 75° b) 80° c) 90° d) 60°

ix. Ifangle A and angle B are complementary and the measure of angle A is 23°, then the
measure of angle B is
a) 67° b) 77° c) 157° d) 23°



Xi.

Xii.

Xiii.

XiV.

XV.

XVi.

XVii.

XVviii.

XiX.

XX.

XXi.

XXii.

(-16) x (-13) is

a) -208 b) 208 c) -1208] d) 218
The degree of the Polynomial 3x?-11x + 7

a) 2 b) 1 c)3 d) 4
397x36+ 3x36 is

a) 14,400 b) 14,500 c) 13,400 d) 15,400

The area of right angled triangle is 120cm?. If its smallest side is 10cm, then it’s
hypotenuse is

a) 25cm b)26 cm c)24cm d) 10cm
If one angle of a linear pair is acute, what type of angle is the other?
a) Acute b)Obtuse c) Reflex d) Straight
The sum of the measure of the angles of a triangle is
a) 180° b) 90° c) 360° d) 100°
(-25)+(-25) is
a) 1 b)-1 c)0 d) 50
Reciprocal of 2% is
5 2 2 5
The standard form of — % is
54 54 3 3
a) - % b) _—90 C) - E d) _—5
Each angle of equilateral triangle is
a) 60° b) 90° c) 70° d) 180°
An algebraic expression having only one term is called
a) Monomial b)Trinomial c¢) Polynomial d) Binomial
The cost of one cricket ball is 120.8. Find the cost of 100 such cricket balls.
a)%120800 b) X12080 c) 1208000. d) %12.80

Which of the following is not a rational number ?

a) é b) 1.732 c)3.4 d) 1.010010001

xXiii. What is the coefficient of x in -11x

a) -11 b)11 1 d)o

xxiv. The angles x° and (180- x°) are
a) Complementary b)Vertically opposite c)Linear pair d) Supplementary
xxv. The value of 4-5x when x = -2 is

a) 6 b) -6 c)14 d) 2

xxvi. 11.4 dal is equal to

a) 1141/ b) 1140/ c)1.14 1 d) 0.114 /



SECTION B
(2x6=12)
Q2. When a=0 and b = -1, find the value of 2a? + b? + 3
Q3. If the cost of 3.5 litres of milk is X96.25, find the rate of milk per litre.
Q4. In a right angled triangle, the two Acute angles are in the ratio 3:2. Find the acute angles.
Q5. What will we get when -134 is subtracted from the sum of 37 and -87.
Q6. Simplify: [=x =] + [-=x—]
Q7. Two sides of a triangle are 3cm and 5cm. What can be the maximum length of the third
side?
SECTION C
(3x4=12)
Q8.A ladder 17m long reaches a window of a building 15m above the ground. Find the distance
of the foot of the ladder from the building.
Q9. A vehicle covers a distance of 52 km in 2.6 litres of petrol. How much distance will it cover in
3 litres of petrol?
Q10. In a class test containing 10 questions, 5 marks are awarded for every correct answer and
(=2) marks are awarded for every incorrect answer and 0 for questions not attempted.
i) Mohan gets four correct and six incorrect answers. What is his score?

ii) Reshma gets five correct answers and five incorrect answers, what is her
score?
iii) Heena gets two correct and five incorrect answers out of seven questions
she attempts. What is her score?
Q11. What should be the value of a if the value of 2x?+x-a equals 5 when x=07?

SECTION D (CASE STUDY)

(5x2=10)
Q12 Ganesh donated 3/10 of his monthly income to a blind school for the education of blind
children, 1/10 of his monthly income to an old age home for women and % of his monthly
income on other expenses. He is left with only X5000.
i) What is the monthly income of Ganesh?
a) 45000 b) 50000 ¢) X30000 d) 35000
i) How much money did Ganesh donated to the blind school for education?
a) 15000 b) 18000 c¢) X16000 d) 220000
iii) How much Ganesh donated to old age home for women?
a) %8000 b) 6000 c) 25000 d) 23000
iv) How much money is spent on monthly expenses?



a) 28000 b)=X25000 c)X36000 d) 30000
V) What fraction of Ganesh’s salary is saved?

2 3 1 1

Q13. Reeta and Rohan were playing a game on parallel lines and the angles formed with
The transverse line(that are .. alternate angles, corresponding angle and interior angles).
First Reeta drew a straight line AB then Rohan drew another straight line CD| | AB.
Further a transverse line PQ was drawn which intersects lines AB and CD at points

X and Y respectively.

P
X
A 1/2 B Reeta's line
3/4
Y
C 5/6 D Rohan's line
7/8
Q
i) Which is the alternate angle to £6?
a) z«1 b) £2 c) £3 d) £4
ii) Which is the corresponding angle to 21 ?
a) 24 b) £5 c) 26 d) 27
iii) If £4=120° then what is the measure of 267
a) 80° b) 120° c) 100° d) 60°
iv) What is the sum of 23 and 25 ?
a) 180° b) 160° c) 100° d) 60°
V) 25 is equal to which of the following pairs of angles?

a) 27 and 48 b) 6 and 47
c)z4and 28 d) 42 and 43
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General Instructions:
1. Read the question paper carefully
2. This question paper consists of two Sections.
3. Attempt all the sections and do the work neatly.

Section- A(27 Marks)

Q1. Tick the correct answer: (1X5=5 Marks)
i. Which name did the Chinese use for India®.
a. Aryavarta b.Tien Chu c. Hind d. None of them
ii. Which measure was introduced by Iltutmish-
a. Marketreform  b. Chalisa c. Sijdah d. Token currency
iii. The word 'sikh' is derived from the Sanskrit word-
a. Akshaya b. Griha c. Shishya d. Kesh
V. A, is a natural ecosystem .
a. Banana plantation b. Pond c. Steel mill d. School
v. The print media is also called—
a. Press b. Magazines c. Newspaper d. None of these
Q2. Answer the following questions in one word: (1X3=3 Marks)

i. Who invented printing press ?
ii. What does 'kratos' means?
iii. Which instrument is used to measure earthquakes?

Q3. Fill in the blanks: (1X4=4 Marks)

i. Theword............ means love and devotion to God.
. e is the deepest and largest ocean.

iii. Earthquake waves are also called .................
[V is a biography.

Q4. Match the following. (1 X5 =5 Marks)

i. Kirpan a) Religious order



ii. Silsilah b) Dagger

iii. Direct democracy c) A dictator who ruled Germany
iv. Right to information d) 2005
v. Hitler e) Switzerland
Q5. Draw any one well-labelled diagrams of - (2X1=2 Marks)

i. Types of tides
ii. Water cycle

Q7. Read the following case studies and answer the questions based on these. (2X4=8Marks)

Miniatures are small-sized paintings, generally done in water colour on cloth or paper. The
earliest miniatures were on palm leaves or wood. The Mughal emperors Akbar, Jahangir and
Shah Jahan patronised highly skilled painters who primarily illustrated manuscripts
containing historical accounts and poetry. These were generally painted in brilliant colours
and portrayed court scenes, scenes of battle or hunting, and other aspects of social life..With
the decline of the Mughal Empire, many painters moved out to the courts of the emerging
regional states. As a result Mughal artistic tastes influenced the regional courts of the Deccan
and the Rajput courts of Rajasthan. At the same time, they retained and developed their
distinctive characteristics. Portraits of rulers and court scenes came to be painted, following
the Mughal example. Besides, themes from mythology and poetry were depicted at centres
such as Mewar, Jodhpur, Bundi, Kota and Kishangarh.

i. What are Miniature paintings?

a. Portrait b. Small sized painting. c.Pots d. None of them
ii. On what material were the earliest miniature paintings made?
a. Palm leaves or woods b. Stones c. Clothes  d.None of them

iii. Portraits of rulers and court scenes came to be painted, following the Rajput
culture. True/ False
iv. The Mughal emperors patronised skilled painters. True/False

Democracy is considered to be the best form of government. It has rightly been said that it is a
government of the people, by the people and for the people. People elect their own
representatives who run the government. All citizens after attaining a certain age are granted the
right to vote. In India, this age has been reduced to 18 so that the maximum number of young
men and young women take an active part in politics. But it has brought responsibility also. Now
we have to see that everyone makes proper use of his vote.

i.Democracy means—

a.lt is the government which takes maximum care of its people.



b. It is the government which gives maximum employment.

c .It is the government which is helpful and very kind.

d. It is the government of the people, by the people and for the people.

ii. Who has a right to vote in an election?

a. All citizens.

b. The citizen after attaining a certain age.

c. The citizen after attaining an age of 18

d. The citizen after attaining an age of 21.

iii. Democracy is considered to be the best form of government. True / False

iv. Maximum number of young men and women take an part in politics. True/False

(Section B (29 Marks)

Q8. Answer the following questions in 20-30 words: (2X4=8 Marks)
i. Name some instruments introduced by the Turks in India.
ii. Why is direct democracy not possible today?
iii. What is Right to Information Act, 2005?
Or
What is the Press Council of India?
iv. Why is sea water saline?

Q9. Answer the following questions in 30-40 words: (3X3=9 Marks)

i. What do you understand by political party? Name three political parties that have a large
presence in India?

Or
What are the functions of the Election Commission?

ii. Mention some of the principles that media should follow before reporting any news.
Or
Explain the different types of media with examples.
iii. What are the causes of earthquakes?
Or
Explain the major volcanic and seismic belts of the world.

Q10. Answer the following questions in detail: (5X2=10 Marks)

i.  Mention the causes for the downfall of the Delhi Sultanate.



Or
When and why was first battle of Panipat fought?
ii. What do you know about the structure of the Earth?
Or
Explain the rock cycle with diagram.

Q11. Map Work:
i.Mark he cities where following places are located:
a. Qutub Minar
b. Konark Temple
c. Buland Darwaza
d. Golkonda fort

(0.5X4=2Marks)



SANT NIRANKARI PUBLIC SCHOOL, GOVINDPURI
SAMPLE PAPER (2024-2025)
CLASS- VI
SUBJECT-SCIENCE

TIME: 3 hours M.M:60 Marks

General Instructions:
e This question paper is divided into 2 Sections: A and B.
¢ All the questions are compulsory.

SECTION-A
Answer the following questions-
Q.1 Tick the correct answer - 1X12 =12 Marks
i. By-product of photosynthesis
a) oxygen b) water c) nitrogen d) carbon dioxide
ii. This converts free nitrogen into a soluble form
a) mushroom b) bread mould c) Yeast d) rhizobium
iii. The process of taking in air rich is oxygen is called
a) Exhalation b) Inhalation c) Breathing d) Respiration
iv. Normal human body temperature is
a) 37°C b) 35°C c) 33°C d) 37°F
v. The lowest layer in the forest is called
a) canopy b) understorey c) forest floor d) emergent
vi. The mature ovary forms the
a) seed b) fruit c) stamen d) pistil
vii.The basic unit of speed is:
a) km/h b) km/s. c)m/s d) km/min
viii. Which of the following does not prevent rusting of iron?
a) galvanisation b) alloying c) painting d) watering
ix. During exhalation, we give out:
a) Carbon dioxide  b) Water c) photosynthesis d) freezing of water
Xx. Which of the following is an instrument used to measure distance covered by a vehicle?
a) speedometer b) odometer c) anemometer d) voltmeter
xi. Yeast reproduces by
a) fragmentation b) budding c) seeds d) spore formation

xii. Which of the following gases turns lime water milky?
a) Oxygen b) hydrogen c) Carbon dioxide d) nitrogen



Q2-Answer in one word. 1X6=6 Marks
i) Destruction of forest on large scale.
ii) Process of depositing a layer of zinc on an iron object.
iii) A complete parasite
Iv) Another name for trachea.

v) A type of reaction in which a compound breaks up into two or more substances.

vi) A device which measures time by the position of the sun.

Q3-Write True or False. 1X6=6 Marks
i) The motion of the Earth around the Sun is periodic motion.
ii) The Sl unit of length is kilogram.
iii) Forests are known as ‘green lungs’
iv) The formula of sodium hydroxide is NaOH.
v) Bisexual flower have both stamens and pistil.
vi) Heat from the sun reaches us because of radiation.
Q4-Fill in the blanks 1X6=6 Marks
i) A reddish brown layer deposited on iron objects is called
ii) The process of transfer of pollen from anther to stigma is called
iii) A green pigment present in the leaves is known as
iv) is the distance travelled by an object in unit time.
v) Substances which do not allow heat to flow through them are called
vi) Muscle cramps is caused due to accumulation of

Q5- Read the given passage and answer the following questions. 2X3=6 Marks

a)Stamens are the male reproductive part and pistil is the female reproductive part of flower. Flowers
which contain either only pistil or only stamens are called unisexual flowers. Flowers which contain both
stamens and pistil are called bisexual flowers. Corn, papaya and cucumber produce unisexual flowers,
whereas mustard, rose and petunia have bisexual flowers. Both male and female unisexual flowers maybe
present in the same plant or in different plants. Anther contains pollen grains which produce male
gametes. A pistil consists of stigma, style and ovary. Ovary contains one or more ovules. The female
gamete or the egg is formed in an ovule. In sexual reproduction a male and a female gamete fuse to form a
zygote.

i) Name the male and female reproductive part of a flower.
ii)What is a bisexual flower? Give two examples.
iii)How is a zygote formed in a sexual reproduction?

b) Our muscle cells can also respire anaerobically, but only for a short time,when there is a temporary
deficiency of oxygen. During heavy exercise, fast running, cycling, walking form many hours or heavy
weight lifting, the demand for energy is high. But the supply of oxygen to produce the energy Is limited.
Then anaerobic respiration takes places in the muscle cells to fulfil The cramps occur when muscle cells
respire anaerobically. The partial breakdown of glucose produces lactic acid. The accumulation of lactic
acid causes muscle cramps. We get relief from cramps after hot water bath or a massage. Hot water bath
or massage improves circulation of blood. As a result, the supply of oxygen to the muscle cells increases.
The increase in the supply of oxygen results in the complete breakdown of lactic acid into carbon dioxide
and water.



i)When is the demand of energy high in human body?
ii) How can we get relief from cramps?
iii)How is lactic acid broken down?

SECTION-B
Q6-Answer the following questions. 2X6=12 Marks
i) Write the process of photosynthesis in the form of equation.
ii) What are the two essential requirements for rusting?
lii) What is the role of decomposers in the forest? Name them.
iv) What is the difference between a symbiotic plant and a saprophyte.
v) A car takes 5hrs to cover a distance of 150 km. Calculate its average speed.
vi) Name the two factors on which absorption and reflection of radiant heat depend.
Q7-Answer the following questions. 3X4=12 Marks
i) How do forest help in maintaining the balance between O, and CO; in the atmosphere?
ii) What kind of clothes should we were in summers and winters ? Why?
iii) How does fertilisation takes place in plants?
iv) Why do living things need energy? From where does it comes from?
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1. Fillin the blanks: [10x0.5=5]

(Data source,15, Align, image Classified , Src, Align  Fields, name Cyber bullying, Rowspan, colspan
Auctions, Main document, 9,)
a) The decimal equivalent of (F)16 is --------------- .
b) Hexadecimal of decimal number 9 will be --------------- .
c) The first row of a data source usually contains the names of the --------------- .

d) The ----------—---- does not contain the variable data while --------------- contains the details to
be inserted in the letter during mail merge.
e) Two implementations of C2C E-Commerce are and
f) Making remarks on someone’s appearance constantly is a form of ---------------- .
g) and attributes help in merging cells in an HTML table.
h) middle is a value that can be given to ------------ attribute of ------------ element.
i) <IMG -------- = “images/bg/backgroundl.png” ------------ = “middle”>
j) <A -—-memee- = “history-of-computers”>
2. Choose the correct answer. [ 10 x 0.5=5]
a) ---—----- coding system covers mathematical symbols and special characters.
a) ASCII-8 [] b) uNicopEe []
c) BCDC [] g)eBcpIC []

b) In Hexadecimal number system, letter A represents which number?

a) 10 [Jp)s []
c)4 [ d)16 []

a) By default, what is the number of copies of main document generated as merged document
after finishing mail merge?

a) 100 [ )1

OO

c) As many records in the data source [] d)o
b) Which of the following options allows to do mail merge for selective records in data source?

a) Sort D b) Select

c) Mark D d) Filter
a) Which of the following describes E-Commerce?

a) Doing Business Online L] b) Doing Business

oo oo

c) Sale of Goods D d) All the Above




b) Which of the following is part of the type of E-Commerce?

a) B2B
c)C2B

[ b)B2cC
L] d) All the above

OO

c) What is CyberBullying?

a) Award

c¢) Cybercrime

[ b)Reward
[] d) None of the Above []

a) Find the odd one out.

a) PNG
c) MP3

[

[ b)ico
L1 a)ymiFr L]

b) Align="“middle” applies to which of the following elements?

a) <IMG>

c) <P>

c) <A href="#details”> - here, #details refers to which of the following?

a) External target D b) Web page

c) Image

[ b) <TABLE>

[ d)<a>

Od oo

D d) Internal target

3. Read the statement and select the correct reason of the two given below each statement. [5x1]

a) Statement : <IMG> is an empty element.

Reason 1
Reason 2

b) Statement
Reason 1
Reason 2

c) Statement
Reason 1
Reason 2

d) Statement
Reason 1
Reason 2

e) Statement
Reason 1
Reason 2

For inserting image, there is no need to close <IMG>.
There are no attributes in <IMG>.

To center-align an image, we must enclose <IMG> in <CENTER></CENTER>.
There is no align = “center” arrangement in <IMG>.
Statement is not true.

An internal hyperlinked content should be identified by a unique name.
It is not a separate web page.
It is saved on the web server as a separate html file.

A table has equal number of cells in each of its rows.

If cellpadding or cellspacing are not used in such a table.
If rowspan or colspan are not used in such a table.

A borderless table can be made in HTML.
If we do not use border attribute
If we set cellspacing to zero.




4,

Below are given some statements. If the statement is true, just mention True otherwise specify the

correct fact below it. [5x1]

a) The main document consists of a mailing list.

b) The current document opened in MS Word can be used as the main document.

c) Merge field is a feature that is used to combine a recipient list with the main document.

d) The Preview Results option on the Mailing tab displays only the first record from the data source

e) The two main components required for the mail merge process are the main document and
the merged fields.

5. Answer the following questions. [8X2=16]

6.

a) What is the significance of mail merge feature?

b) What is the purpose of the data source in mail merge process?

a) Define the term E-Commerce and list 4 categories of E-Commerce.

b) List any 2 advantages to consumers and 2 non-technical disadvantages of E-Commerce.
e) What is cyber bullying? Briefly discuss its ill effects on people.

f) What is cell padding and cell spacing in HTML table? Explain with an example.

g) With an example, show how cells in column and row of a table are merged.

h) Why is a huge dataset difficult to analyze or understand ? what is the remedy ?

i) list 2 scenarios each in which Pie, Column and Line Charts are most suited.

Describe the following terms in one line: 4

i Net banking

ii. Blogging
iii. E-Governance

iv. Social networking
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